‘Is ENT l MAY 2019 /Paper / Subject Code: 54701 / Data Structures
(o).
[Total Marks: 100]
(3 Hours)

NB.: 1) Question No.1 is compulsory.
2) Attempt any four from the remaining questions.

1. (a) Write an algorithm for the following
i. Insert a node in sorted Linked List
ii. Delete first node from the Linked List.

:
1. (b) Whatis a stack? Give algorithm to push and pop element in stack. List the
applications of stack.
2. (a) Inorder and post order traversal of a binary tree are as follows
i Preorder ABDG CEHIF
Inorder DGBAHEICF

Show a step wise reconstruction of the binary tree

2. (b) For circular queue write algorithms to
i. Insert an element in the queue
ii.  Search for an element in the queue

3. (a) Write Short notes on
i. Analysis of Algorithm
1. Priority Queue

3. (b) Consider the following list of numbers- 67, 12, 89, 26, 38, 45,22, 79, 53,9, 61
Sort these numbers using heap sort

(10)

(10)

(10)

(10)

(10)

(10)

4 (a) What is minimum spanning tree? Write Kruskal’s algorithm to find minimum (10)

spanning tree and determine minimum spanning tree of the following graph

4 (b) Explain Graph and its terminology also explains in brief adjacency matrix and (10)

adjacency list for Graph Storage.

S (a) Whatis Huffman Coding? Given the set of symbols and corresponding
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frequency table as below, explain the steps to find Huffman Code

Symbol A B B D E
Frequency 20 10 10 30 30

5. (b) Hash the following in a table of size 11. Use lmear probmg and quadratlc (10)
probing collision resolution techniques:
29,55, 10, 71, 67, 32, 100, 18, 10, 90, 44.

6. (a) Define B-tree. Construct B-tree of order 4 with following data (-10)
§921.9.1,13,2,7, 10,12, 4,8 ‘ S :

6. (b) Write a short note on FEE ' S SS(10)

i) Binary Search Tree
i1) Doubly linked list

7. (a) Whatis AVL tree? Construct AVL tree for the following data. Mention the type  (10)
of rotation for each case. 50, 25, 10, 5, 7.3,30,20,8, 15

7. (b) Give BFS and DFS traversal of the following graph (10)

P T T T T T
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‘R [ SHem- 1T ) Paper / Subject Code: 54703 / Operating Systems l MG'T*Q»O\q .

(3 Hours) [Total Marks: 100

Ql(a)

|

Ql(b)
Q2(2)

Q2(b)

Q3(a_)

Qs(tp

e Q«a)

1) Q1 is compulsory .
2) Attempt any 4 from Q.2 to 7. : - pR:
3) Assumptions should be made whenever reqmred and should be ciearly stated
4) Answeérs to sub questions should be answered together e PR gy

5) Draw neat diagram whenever requlred < s

For the processes listed below the table, d{aw Gantt chﬁt and calculate (12)
average waiting time and average tumamun& tkme usmg SN B B
i)  FCFS (first come first sewe) 2 i
ii)  SJF (Shortest Job Flrst) m be‘th condltlen preemptlve and nen-
preemptive U ARGE St e ;
iii) Round — robin (Quantum S r RN S
Processes Amval Tlme(rns) Burszime(mls)"_,! o
P3 . F TR
P4 S i

What is process‘? Expk;un about ﬁve—state Process model in detml (08)

Which crlterla s are Impertant m che()smg a ﬁle ergamzatlon? List and (10)

leferentlate between (10)
i) - Pagmg and’ Segment_ _

Ay Monohth:c kemel anwh m,kemel

' Suppose a dlSk dnve has 2(10 eylmders numbered 0 to 199. The driver is (10)
currently serving: request at. cyhnder 50 and previous request was a

3 cyllnder 100. The' qlieue 1s~pendmg request in FIFO order is: -

- 95,180, 34 119 11,123,62, 64

T What lS the total head movement under following scheduling algorithm?

1} FCFS 11) SSTF iii) SCAN iv) C-SCAN

.What is Dynarmc and F1xed Partitioning? What are the problems with them (10)
., and how can we solve these problems? Explain.

What do you mean by concurrency control? Explain the use of semaphore (10)
: and momters in concurrency control with example.
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Q4(b)

Q5(a)

Q5(b)

Q6(a)
Qs(_b)
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Given a reference string to the following pages by a program
234.1.23.0.3.241.5.32.1 SN -
How many page faults will occur for the followmg page replacement
algorithms, assumigg four frames? O el e de et

1) LRU replacement

i1)  FIFO replacement

1i1) Optimal replacement

s _'_(_10"

Consider the following snapshot of the system P s e '5-..'(‘10)'
Processes | Allocation Max@;.‘-‘f | Available” .0 |
Rl R2 R3 3° SRR R2R3 ES
PO 2 1 00 T

Pl 1 2

P2 0 1

5 0

Using Banker’s algorlthm ) e
1) What is the ceufex‘t of 'matnx need‘?
ii)  Isthe system in safe state? lee :the sequence
iii)  Consider the request ﬁ‘Om precess PI arnves for (1,0,0). Can the
request be 1mmed1ate1y granted9

Explain the access: matnx model of p&‘oteetlon How does it serve a useful
abstractxon for reasonmg about pTotection ‘mechanisms in a computer
system‘?

(10)
What 1§ deadlock‘? Explam m bnef deadlock prevention methods. (10)

What is the pnnmple of iocahty’7 What is the purpose of Translation Look (10)

~aside buffer‘? ‘How -fo- ealculate number of bits in logical address and

; -j * physical address when logma} address space of 8 pages of 1024 word each,
-4 mapped to physwal memory of 32 frames?

'erte short notes on any four

(20)
"5 i) Progesd. ControI B1ock
~ i) Buffering
111) -“,iMuItlpregrammmg, Multitasking, Multiprocessing
iv) = Clock Hardware and clock software
“v) - Features of LINUX operating system
Vi) Passwei'd selection strategies
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r’ Ser- 11 / Paper / Subject Code: 54705 / Financial Management } Moy -201 9

T

(3 Hours) Total Marks: 100
Please check whether you have got the right question paper.
Motz - 1. Question No. 1 is compulsory.
2. Attempt any two questions from question no. 2-4
3. Attempt any two questions from question no. 5-7 ‘
4. Answer to questions should be grouped and written together.
5. Figures to the right indicate full marks assigned to the question.

Q1 A From the following trial balance prepare Trading, Profit & Loss account and the [10]
balance sheet of Mica & Sons for the year ended on 31st March, 2018, '

Particulars - RS -
Advertisement AN 4,500
Furniture ) W S TR,500
Salaries : A 235,000
Bills receivable L] 7 20,000
Sundry creditors- . - . 20,000
Bank loan ¥ - = ¥ . < 1,00,000
Sundry debtors. | 10,000
Insurance premium ~ - < - . 2,500
Sales. B T 2,40,000

; Drawings O A l_i.,OOO_
- Carriage outward -~ < 1,000
“Pyrchages 05 oS0 AAF S 2 (25,000
Building: © .. ~ . 2,50,000
Sales retarn™ < 38 & £ 1500
Opening stock™. = .+ 50,000
Bad debts : Y= 750
“Capital 2 NN A 2,86,750
Trade expense” . 1,250
Bank balances " 1,25,000
Purchases return = 8,250
Wagess &8 2,500
~Interest received: 1,000
‘Plant and Machinery 1,00,000
Carriage inward 4,500

Closing stock is valued at Rs. 45,000

B Explain Causes of Disagreement Between Cash Book and Pass Book in Bank [10]
Reconciliation statement.
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Q.2 A. Journalize the following transactfens in the books of Pin & Bros.

Q3

Q.4

39241

1% Nov : Invested Cash in business Rs 40,000/-
4™ Nov : Purchased Goods for cash Rs 10,000/-
7" Nov : Goods sold for cash. Product worth Rs 20,000/- which includes

' Trade Discount Rs 2,000/~ and Cash Discount Rs 1,000/-
9% Nov : Took loan from Abha of Rs 2,000/-
10" Nov  : Sold goods to Mr. Vada on credit Rs 10,000/-
12" Nov : Purchased Machinery worth Rs 1,00,000/-
14" Nov  : Sold personal Motorcycle at Rs 10,000/
19" Nov  : Lost goods worth Rs 20,000/-
25" Nov  : Mr. Vada paid cash

29" Nov  : Paid to bank as cash against commission Rs 500/-
Explain Flexible and Master Budget in detanl ' 3

Explain Meaning, Slgmﬁcance and Limitanons of R _' _ ‘ i

Explain dlfferent‘eqs't elem’ents‘i'n »détaxl

Prepare Cash Book Wlth_ stcount ‘Cash and Bank 5Column for Nov. 2018 of
M/s. Dida Bros. . :
1. Cash balance Rs. 40 000[- and bank balanceRs 50 000/-
e Purchased goods from Zyan worth Rs 5 ,00; 000!- on credit
4. -Bank has charged Initerest Rs. lOﬂf— : 5
-10. Purchased goods for Rs 70 009/- paxd Rs 20 ,000/- by cash and rest by
r:;icheque S

S 14 Paid Wages by cheque Rs 5 000!- >
R _Sale of Rs 20,000/~ and received bearer cheque.
~.20: Sold guods for <cash Rs 30, 000/- :

22, Dim has directly deposﬂed cash in bank Rs 50,000/~

B ‘30. 'Deposlt mto'bank aIl 1 excess of Rs.1,000/-

B Explam Fxxed capltal angi Workmg capital.
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Q5 A
B.
Q6 A

S -Purchases *'10 000 10 000 & { 10, 000 10,000 | 10,000
P l.‘ 0pen1ng balance for Jan 19is Rs 3, 50,000/-

Paper / Subject Code: 54705 / Financial Management

Mat Ltd. gives the following Balance sheet. Compute both ratios. - S ik ,' _ :_[-10]_' F 3
e Liquid Ratio E : :

e Solvency Ratio

Balance Sheet

Liabilities Rs. Assets | Ra S
12% Debentures 600000  Debtors 4;00_,;000‘;':
Reserve fund 200000  Stock o 1600 0'001 ”
Overdraft 200000 Cash  2,00000°
Creditors 400000  Fixed Assets 28,0000
Equity share capital 3000000 R st
Total 44_,093000  Tota 44,00@_00 -

Explain Cash and Fund ﬂow m: tal : * [10]

From the following forecasts of mcome and expendlture prepare a cash budget for [10]
the month Jan. to Mar 2019 g & 4 . L

Nov’ _18 : DeC,18 Jan l & \&:5'_ ;F‘eb’ 19'\- | Mar19

o

Expenses»i 'y 606.5’1 120 000 ~F1,000 2,000

Wages' . [ 1,000 00 - {3000 -]4000 5000

Overhead - 22 000 -"’,ﬁ.ﬁ.}iji)bd,;_:f',':?,l 000 \3,0'00 4,000

Jcash. .":”;_-f'\‘f~4_0,0070-__,¥.- | 90,966'-_'"‘ ) }\so 000 | 20000 |30000
_5 :H'nSales O R R TR AR o :

©'2. Delay in wages by two mouths &

3 Expenses are to be reahzed in same month and rest all are delayed by
S month : 5 :

B Explam any ﬁve Deter mhms of Working Capital. [10]
Q.7 Wnte Sho: Note on .(ANY FOUR) 20]

1) * Batch' costmg

s 41_;) - Accrued Income

S 11 Unearned Income

59241

iv -»":Further Bad Debts(FBD)
v)- - Liquid-Assets
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[3 hours] A Marks 100 A
N.B (1) Question Nol is compulsory. i J 5 CE T g
(2) Attempt any four questions out of remaining six questlons RS R
(3) Assume any necessary data but justify the same o
(4)  Figures to the right indicate full marks. i
(5)  Use of scientific calculatgr is allowed.

Q1. a) What is scaling transformation? Derive the matr 'fo:r-i"tvx;ofdi'r:t_fghéio‘t\rgl-A_f?xe_d: 7(10)

point scalmg

QL b) oo (36)
Upper nght corner (400, 250)

Q2. a) Write the Properties of Bspline G’urve\' & : Wadat : £ 10

Q2. b) Whatis Reflection? What are the dlffereng types of reﬂectlons g (10)

Q3. a) Derive the DDA line drawmg algorlthm, alsocompare it w;th Bresnham s line (10)
drawing algorithm . ST AT e S A

Q3 b) Explain the Phong’s Inummatlon model SRS SRS (10)

Q4. a) Whatis v1ewmg7 Explam the ZD Wewmg transfox‘matlon R (10)

Q4. b) Write all the homogeneous matncés for 3D rotatxon Rotate the 3D PYRAMID (10)
A(10,0 10) B(ZO 0 10), C(ZD{) 20) D(IO (},20) E(LS 40 15) by 60 degrees about

y axis and determme the new coordrnates

Q5. a) Explam in detaﬂ the Halﬂ;oumg an,d drthenng techmques (10)
Q5. b) ,Dxfferentlate between Parallel ancﬂ’e pectfve Projections. (10)
Q6. a) -\_'Derwe the mldpomt cm:le drawmg algorithm (10)
Q6. b} ‘=C0mpare and Contrast between ﬂood ﬁ]l and boundary filling techniques (10)
Q7 H »erte short notes on r et
a) - Fractal I:nmension GO (05)
\ b) 'Ray Tracmg % Y LT 2 (05)
i 7 2 . ] i Ve Joi % T
3 5 0) ,.__.Area-ﬁll attnbutes and -ﬁll sty]es (05)
' : d) Surface Rendermg | (05)

oy —————
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(3 Hours) Tota_liil\\:‘:azirk_si:"_'loo-
N.B (1)  Question No.l is compulsory. . >
(2)  Attempt any four questions out of remaining six questions. . e
(3)  Assume necessary data but justify the same & =
(4)  Figures to the right in paranthesis indicate full marks,

(5)  Use of scientific calculator is allowed

L (@)  Find Bowley’s coefficient of skewness fgff:éh'e followin  data: 1 £

Class |0-4 [48 [812 [12<16 |16-20 2024 |24
Interva SNl A e LN

Is 4 % O
Freque | 10 12 18 : 3 S I3

ncy 3 : ‘ A
(b) X is normally distributed and the meah ef X is 30 and standard devlatxon is 5 “Find (10)
the probability of the following s : 21 T

1) X>45 ~2)26 <‘.x’ <40 L gy
P(0<z<2)=04772 P(a—<z<&) 0288_] &6 P(O<z<3) 0.4986

2. (a)  Find Spearman’s rank corre atlen coefﬁclent for he fellowmg data (10)

Marks inDM | 68 {64 {75 |50 164 |80 {75 |40

Marks in WT [ 62 {58 |68 |44 '8]\' 60 | 68' 48

(b)  Anurn contains 6 whxte 4 red and 9 biack balls. A person draws 3 balls from the (10)
box at random Fmd the probabxhty that armmg the balls drawn none is red?

3. (a) IfXisa Pmsson vanate such that (10)
P(X=2) = 9P(X=4) + 902@(“6) SO
Find the value of & S
(b)  The first of the two samples has’ 190 ltems w:th mean 15 and standard deviation 3. (10)
« Ifthe whole group has 250" 1§ems w:th mean 15 6 and variance 13.44, find the
S .standard dewatmn of the second groupf
4 {a) Fmd the mean and vanance ef Bmomlal dlstrlbution (10)
L) e Obtain the median for the following frequency distribution. (10)
| Wages: (in° 1'2000-3000. ] 3000-4000 | 4000-5000 | 5000-6000 | 6000-7000
| : Fas RS) e o A ,\l - :',\":(_ * ik
B Number of . 20 10 &
e workefs.»:-- i K
£ - (a) : A machlmst‘ns makmg engme parts with axle diameters of 0.7 inch. A random (10)
‘ . sample of 10 parts shows a mean diameter of 0.742 inch with a standard deviation
-' <o of0.04 mch Test if ihe work is meeting the specifications. Tabulated value of t is
A 833 &S
“(b) Ina random arrangement of the letters of the word “MISSISSIPPI”, find the (10)

Vs probabllltx“gh_at_ail the I’s come together
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6. (@ A continuous random variable x has the following probabifig)(j5§§ﬁ§ifyii'ﬁm?ﬁ§ﬁ:::jf 5 ( 10) 3

f(x) =ax ,0<x<1
=a sl =gxx2
=-ax+3a,2<x<3
=0 = , otherwise

Compute P(x < 1.5) SRS
(b)  The scores of 2 cricketers A and B in a series are: _" AT H(10) 4
A: 5034702719 . St
B: 810156825 : :
Find out who is more consistent using coefﬁcxent of vanatxon '

e (10)

7. (@)  Find the expectation of the numberona | , 1ee.
2. K10)

(b) Weights in kilograms of 10 students i is glven bejow
38,40, 45, 53, 47,43, 55,48, 52,49 5 S 08 - E Rl el s d o B
Can we say that the variance of the d;stnblmon frorn whrch the above sample s "
drawn is 20 kg? ( Tabulated value of Chl Square JS 16 99) : &
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